
Clicker question #1

Which couple forms an instability in the matching below?

𝑤1, 𝑤3, 𝑤2 : 𝑚1 𝑤1 :   𝑚1, 𝑚3, 𝑚2

𝑤1, 𝑤2, 𝑤3 : 𝑚2 𝑤2 :   𝑚1, 𝑚3, 𝑚2

𝑤1, 𝑤2, 𝑤3 : 𝑚3 𝑤3 :   𝑚1, 𝑚2, 𝑚3

A. (𝑚3, 𝑤1) B. (𝑚3, 𝑤2)

C. (𝑚3, 𝑤3) D. None of these are unstable
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𝑤1, 𝑤3, 𝑤2 : 𝑚1 𝑤1 :   𝑚1, 𝑚3, 𝑚2

𝑤1, 𝑤2, 𝑤3 : 𝑚2 𝑤2 :   𝑚1, 𝑚3, 𝑚2

𝑤1, 𝑤2, 𝑤3 : 𝑚3 𝑤3 :   𝑚1, 𝑚2, 𝑚3

A. (𝑚3, 𝑤1) B. (𝑚3, 𝑤2)

C. (𝑚3, 𝑤3) D. None of these are unstable



Clicker question #2

In the SMP instance:

Which 𝑤 should be paired with 𝑚1?
A. 𝑤1

B. 𝑤2

𝑤1, 𝑤2 : 𝑚1 𝑤1 :   𝑚2, 𝑚1

𝑤2, 𝑤1 : 𝑚2 𝑤2 :   𝑚1, 𝑚2



Clicker question #2

In the SMP instance:

Which 𝑤 should be paired with 𝑚1?
A. 𝑤1

B. 𝑤2

C. TRICK QUESTION: either matching will be stable!

𝑤1, 𝑤2 : 𝑚1 𝑤1 :   𝑚2, 𝑚1

𝑤2, 𝑤1 : 𝑚2 𝑤2 :   𝑚1, 𝑚2


